10.

Quiz #14 - Rebids after a 2/1 Response (part 3)

South West North East
1¢ Pass 2& Pass
?
Answers
L I v Kx * AJxxxx & xx
L I ¥ KQxx * AJxx & Qx
L I\ ¥ AJx # Qxxxx & Kx
& KQx ¥x # Axxx & Axxxx
L R ¥ Jx ¢ AKJxxx o Ax
& Axx ¥ KJx * & x
AKQxxx

L Y- vKJ ® Kxxx o Kxx
L 2. ¥ AKx * AJxxx & xx
L I ¥ AQJ # Qxxxx & AJx
'y AQx ¥ Axx # xxxX & Ax

South West North East

14 Pass 24 Pass
?
Answers

[ KQxxx ¥ AQxx * x & Qxx
& AJxxx ¥ xxx * x & AKxx
& AKQxxx ¥ Axx ¥+ xx & Qx
'y AQJ10xxx ¥ Ax # xx o Qx
& AQJxx ¥ AKx ¥ xx & xxx
® xxx ¥ xx *Kx o AK]x
& AKQxx ¥ QJx * xx & Ax
& AKxxx v KJx * xx & Jx
® AQJxx v *QJx % AQJx




10.

Quiz #14 - Rebids after a 2/1 Response (part 3)

South West North East
1¢ Pass 2 Pass
?
Answers
& A v Kx » AJXXXX & xx 2 diamonds — Minimum hand at least a 5
x> card suit
& XXX L I{QXX 2 AJXX & QX 2 hearts — 4 card suit, not a reverse
[ Axx ¥ AJx # Qxxxx & Kx 2 no trump
[ KQx ¥ # Axxx & Axxxx | 3 hearts, club support, heart shortness
& ¥ Jx * AKQxxx &* Ax 3 diamonds — solid six card suit, good
XX hand
& A v KJx # AKQxxx & x 3 no trump - Solid diamond suit, both
> majors stopped
[ ) Axx YK * Kxxx & Kxx 2 spades — second suit, support clubs
later
& ¥ AKx 4 AJxxx & xx 2 diamonds — Minimum hand, no four
XX card major
& <X ¥ AQJ # Qxxxx o AJx 3 clubs — raise clubs, no 4 card major
LN ¥ Axx # xxXX & Ax 2 no trump — 14-15 points, stoppers in
QX both majors
South West North East
14 Pass 24 Pass
?
Answers
& L AQXX * x & Qxx 2 hearts — second suit, at least 5 spades
I<QXXX and 4 hearts.
4 AJxxx ¥ xxx * x & AKxx | 2 spades - minimum
& AI(QXXX ¥ Axx # xx & QX 3 spades — 6 catd suit, good hand
[ ) ¥ Ax * xx & Qx 4 spades — self sufficient suit, minimum
AQJ10xxx hand
LN ¥ AKx + xx & xxx 2 no trump — 14-15 points, 5 spades,
Q]XX denies 3 diamonds, no shortness denies 4
hearts.
& ¥ xx #Kx * AKJx 3 clubs — shows a second suit and a good
KJxxx J hand
[ ) AKQxx ¥ QJx * xx & Ax 3 no trump — 16-17 points
& AKxxx L I{Jx # xx & JX 2 spades — Minimum hand
& AQJxx ¥x *.*Q Jx & AQJx 3 diamonds — show fit

Lee Maddocks 2020




